## Research Article

## On the remainder of a series representation for $\boldsymbol{\pi}^{\mathbf{3}}$

Xiao Zhang*, Chao-Ping Chen

School of Mathematics and Informatics, Henan Polytechnic University, Jiaozuo 454003, Henan, People's Republic of China
(Received: 30 August 2022. Received in revised form: 18 October 202X. Accepted: 19 October 2022. Published online: 22 October 2022.)
(C) 2022 the authors. This is an open access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).

## Abstract

The main motivation for obtaining the results reported in the present paper comes from the following existing identity:

$$
\sum_{n=0}^{\infty} \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}=\frac{7 \pi^{3}}{216}
$$

Let

$$
R_{n}=\frac{7 \pi^{3}}{216}-\sum_{k=0}^{n} \frac{\binom{2 k}{k}}{(2 k+1)^{3} 16^{k}}
$$

We obtain the asymptotic expansion of the remainder $R_{n}$ as given below:

$$
R_{n} \sim \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{3}-\frac{14}{9 n}+\frac{59}{9 n^{2}}-\frac{527}{18 n^{3}}+\cdots\right\}, \quad n \rightarrow \infty .
$$

We also give a recursive relation for determining the coefficients involved in the obtained expansion. Moreover, we establish an upper bound and a lower bound on the remainder $R_{n}$. As an application of the obtained bounds, we give an approximate value of $\pi$.
Keywords: asymptotic expansion; the constant $\pi$; inequality.
2020 Mathematics Subject Classification: 11Y60, 40A05.

## 1. Introduction

Throughout this paper, $\mathbb{N}$ represents the set of positive integers and $\mathbb{N}_{0}:=\mathbb{N} \cup\{0\}$. There exist many formulas in literature for the representation of $\pi$ and a collection of such formulas can be found in [8,9]. Ramanujan [6] provided seventeen series for $1 / \pi$. The following formula (known as Leibniz series)

$$
\frac{\pi}{4}=\sum_{j=0}^{\infty} \frac{(-1)^{j}}{2 j+1}
$$

is due to Gottfried Wilhelm Leibniz. Recently, Alzer [2] presented a series representation for $\pi$ which relates $\pi$ to the partial sums of the Leibniz series,

$$
T_{k}=\sum_{j=0}^{k} \frac{(-1)^{j}}{2 j+1}, \quad k \in \mathbb{N}
$$

More precisely, Alzer [2] obtained the following result:

$$
\pi=32 \sum_{k=0}^{\infty}(-1)^{k+1} \frac{4 k^{2}+8 k+1}{(2 k-1)(2 k+1)(2 k+3)(2 k+5)} T_{k}^{2}
$$

For additional information on the topic under consideration, see [1, 3-5].
Consider the following identity (see [7,10])

$$
\begin{equation*}
\sum_{n=0}^{\infty} \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}=\frac{7 \pi^{3}}{216} \tag{1}
\end{equation*}
$$

and let

$$
\begin{equation*}
S_{n}=\sum_{k=0}^{n} \frac{\binom{2 k}{k}}{(2 k+1)^{3} 16^{k}} \tag{2}
\end{equation*}
$$

be the partial sums of the series (1). We now consider the remainder $R_{n}$ defined as

$$
\begin{equation*}
R_{n}=\frac{7 \pi^{3}}{216}-S_{n}=\sum_{k=n+1}^{\infty} \frac{\binom{2 k}{k}}{(2 k+1)^{3} 16^{k}} \tag{3}
\end{equation*}
$$

At the start of Section 2, using the Maple software, we derive the asymptotic expansion of the remainder $R_{n}$ as given below:

$$
\begin{equation*}
R_{n} \sim \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{3}-\frac{14}{9 n}+\frac{59}{9 n^{2}}-\frac{527}{18 n^{3}}+\cdots\right\}, \quad n \rightarrow \infty \tag{4}
\end{equation*}
$$

In Theorem 2.1, we give a recursive relation for determining the coefficients involved in the obtained expansion. We establish an upper bound and a lower bound on the remainder $R_{n}$ in Theorem 2.2. In Remark 2.1, as an application of the obtained bounds, we give an approximate value of $\pi$.

We end this section with the remark that all the numerical calculations presented in this study are performed by using the Maple software for symbolic computations.

## 2. Results

Using the Maple software, we here give a derivation of (4). We find, as $n \rightarrow \infty$,

$$
\begin{align*}
& \frac{\binom{2(n+1)}{n+1}}{(2(n+1)+1)^{3} 16^{n+1}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{4}-\frac{7}{8 n}+\frac{19}{8 n^{2}}-\frac{45}{8 n^{3}}+\ldots\right\},  \tag{5}\\
& \frac{\binom{2(n+2)}{n+2}}{(2(n+2)+1)^{3} 16^{n+2}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+3)(2 n+1)^{4}}{64(2 n+5)^{3}(n+1)(n+2)}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{16}-\frac{7}{16 n}+\frac{139}{64 n^{2}}-\frac{585}{64 n^{3}}+\ldots\right\},  \tag{6}\\
& \frac{\binom{2(n+3)}{n+3}}{(2(n+3)+1)^{3} 16^{n+3}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{64}-\frac{21}{128 n}+\frac{303}{256 n^{2}}-\frac{3663}{512 n^{3}}+\ldots\right\},  \tag{7}\\
& \frac{\binom{2(n+4)}{n+4}}{(2(n+4)+1)^{3} 16^{n+4}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{256}-\frac{7}{128 n}+\frac{265}{512 n^{2}}-\frac{261}{64 n^{3}}+\ldots\right\},  \tag{8}\\
& \frac{\binom{2(n+5)}{n+5}}{(2(n+5)+1)^{3} 16^{n+5}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{1024}-\frac{35}{2048 n}+\frac{205}{1024 n^{2}}-\frac{7965}{4096 n^{3}}+\ldots\right\}, \tag{9}
\end{align*}
$$

and so on. In view of (5) to (9), we find the sums of the following series:

$$
\begin{gathered}
\frac{1}{4}+\frac{1}{16}+\frac{1}{64}+\frac{1}{256}+\frac{1}{1024}+\ldots=\sum_{j=0}^{\infty} \frac{1}{4 \cdot 4^{j}}=\frac{1}{3}, \\
\frac{7}{8}+\frac{7}{16}+\frac{21}{128}+\frac{7}{128}+\frac{35}{2048}+\ldots=\sum_{j=0}^{\infty} \frac{7+7 j}{8 \cdot 4^{j}}=\frac{14}{9}, \\
\frac{19}{8}+\frac{139}{64}+\frac{303}{256}+\frac{265}{512}+\frac{205}{1024}+\ldots=\sum_{j=0}^{\infty} \frac{76+139 j+63 j^{2}}{32 \cdot 4^{j}}=\frac{59}{9}, \\
\frac{45}{8}+\frac{585}{64}+\frac{3663}{512}+\frac{261}{64}+\frac{7965}{4096}+\ldots=\sum_{j=0}^{\infty} \frac{3\left(120+313 j+270 j^{2}+77 j^{3}\right)}{64 \cdot 4^{j}}=\frac{527}{18} .
\end{gathered}
$$

Summing the expansions (5) to (9) side by side, we obtain the asymptotic expansion (4).

Theorem 2.1. The remainder $R_{n}$, defined by (3), has the following asymptotic expansion:

$$
\begin{equation*}
R_{n} \sim \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{3}-\frac{14}{9 n}+\frac{59}{9 n^{2}}-\frac{527}{18 n^{3}}+\cdots\right\} \tag{10}
\end{equation*}
$$

as $n \rightarrow \infty$, where the coefficients $r_{k}$ (with $k \in \mathbb{N}_{0}$ ) are given by the following recursive relation:

$$
\begin{align*}
r_{0}= & \frac{1}{3} \\
r_{k}= & \frac{4}{3}\left\{(-1)^{k-1}\left[\frac{1}{8}-\left(\frac{10}{27}+\frac{2}{9} k+\frac{2}{27} k^{2}\right)\left(\frac{3}{2}\right)^{k}\right]+\frac{1}{4} \sum_{p=0}^{k-1} r_{p}(-1)^{k-p}\binom{k-1}{k-p}\right. \\
& \left.+\sum_{\ell=1}^{k}(-1)^{\ell-1}\left[\frac{1}{8}-\left(\frac{10}{27}+\frac{2}{9} \ell+\frac{2}{27} \ell^{2}\right)\left(\frac{3}{2}\right)^{\ell}\right] \sum_{p=0}^{k-\ell} r_{p}(-1)^{k-\ell-p}\binom{k-\ell-1}{k-\ell-p}\right\} \tag{11}
\end{align*}
$$

for $k \in \mathbb{N}$.
Proof. Let

$$
T_{n}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}},
$$

where $r_{k}$ (with $k \in \mathbb{N}_{0}$ ) are the real numbers to be determined. In view of (4), we can let $R_{n} \sim T_{n}$ and

$$
\Delta R_{n}:=R_{n+1}-R_{n} \sim T_{n+1}-T_{n}=: \Delta T_{n}, \quad n \rightarrow \infty
$$

Direct computation yields

$$
\begin{aligned}
\Delta R_{n}= & -\frac{\binom{2(n+1)}{n+1}}{(2(n+1)+1)^{3} 16^{n+1}}=-\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)} \\
= & -\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{4}+\frac{1}{8 n} \frac{1}{1+\frac{1}{n}}-\frac{1}{n} \frac{1}{1+\frac{3}{2 n}}+\frac{1}{n^{2}} \frac{1}{\left(1+\frac{3}{2 n}\right)^{2}}-\frac{1}{2 n^{3}} \frac{1}{\left(1+\frac{3}{2 n}\right)^{3}}\right\} \\
= & -\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{1}{4}+\frac{1}{8 n} \sum_{k=0}^{\infty}(-1)^{k}\left(\frac{1}{n}\right)^{k}-\frac{1}{n} \sum_{k=0}^{\infty}(-1)^{k}\left(\frac{3}{2 n}\right)^{k}\right. \\
& \left.+\frac{1}{n^{2}} \sum_{k=0}^{\infty}(-1)^{k}(k+1)\left(\frac{3}{2 n}\right)^{k}-\frac{1}{2 n^{3}} \sum_{k=0}^{\infty} \frac{(-1)^{k}(k+2)(k+1)}{2}\left(\frac{3}{2 n}\right)^{k}\right\} \\
= & -\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \sum_{k=0}^{\infty} \frac{a_{k}}{n^{k}}, \quad n \rightarrow \infty,
\end{aligned}
$$

which can be written as

$$
\begin{equation*}
\left(\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\right)^{-1} \Delta R_{n}=\sum_{k=0}^{\infty}\left(-a_{k}\right) n^{-k} \tag{12}
\end{equation*}
$$

where

$$
a_{0}=\frac{1}{4}, \quad a_{k}=(-1)^{k-1}\left[\frac{1}{8}-\left(\frac{10}{27}+\frac{2}{9} k+\frac{2}{27} k^{2}\right)\left(\frac{3}{2}\right)^{k}\right], \quad k \geq 1
$$

Also, we have

$$
\begin{align*}
\Delta T_{n} & =\frac{\binom{2(n+1)}{n+1}}{(2(n+1)+1)^{3} 16^{n+1}} \sum_{k=0}^{\infty} \frac{r_{k}}{(n+1)^{k}}-\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}, \\
& =\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)} \sum_{k=0}^{\infty} \frac{r_{k}}{(n+1)^{k}}-\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}\right\} \\
& =\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left\{\sum_{k=0}^{\infty} \frac{a_{k}}{n^{k}} \sum_{k=0}^{\infty} \frac{r_{k}}{(n+1)^{k}}-\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}\right\} \tag{13}
\end{align*}
$$

and

$$
\begin{aligned}
\sum_{k=0}^{\infty} \frac{r_{k}}{(n+1)^{k}} & =\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}\left(1+\frac{1}{n}\right)^{-k}=\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}} \sum_{j=0}^{\infty}\binom{-k}{j} \frac{1}{n^{j}} \\
& =\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}} \sum_{j=0}^{\infty}(-1)^{j}\binom{k+j-1}{j} \frac{1}{n^{j}}=\sum_{k=0}^{\infty} \frac{b_{k}}{n^{k}},
\end{aligned}
$$

where

$$
b_{0}=r_{0}, \quad b_{k}=\sum_{p=0}^{k} r_{p}(-1)^{k-p}\binom{k-1}{k-p}, \quad k \geq 1 .
$$

We obtain from (13), as $n \rightarrow \infty$,

$$
\begin{equation*}
\left(\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\right)^{-1} \Delta T_{n}=\sum_{k=0}^{\infty} \frac{a_{k}}{n^{k}} \sum_{k=0}^{\infty} \frac{b_{k}}{n^{k}}-\sum_{k=0}^{\infty} \frac{r_{k}}{n^{k}}=\sum_{k=0}^{\infty}\left\{\sum_{j=0}^{k} a_{j} b_{k-j}-r_{k}\right\} n^{-k} . \tag{14}
\end{equation*}
$$

Equating coefficients of the term $n^{-k}$ (with $k \in \mathbb{N}_{0}$ ) on the right-hand sides of (12) and (14), we obtain

$$
\begin{equation*}
-a_{k}=\sum_{j=0}^{k} a_{j} b_{k-j}-r_{k}, \quad k \in \mathbb{N}_{0} . \tag{15}
\end{equation*}
$$

For $k=0$, from (15) it follows that (noting $a_{0}=\frac{1}{4}, b_{0}=r_{0}$ )

$$
-\frac{1}{4}=a_{0} b_{0}-r_{0}=\frac{1}{4} r_{0}-r_{0} \Longrightarrow r_{0}=\frac{1}{3} .
$$

For $k \in \mathbb{N}$, we obtain from (15) that

$$
\begin{gathered}
-a_{k}=\frac{1}{4} b_{k}+\sum_{\ell=1}^{k} a_{\ell} b_{k-\ell}-r_{k}, \\
-a_{k}=\frac{1}{4} \sum_{p=0}^{k} r_{p}(-1)^{k-p}\binom{k-1}{k-p}+\sum_{\ell=1}^{k} a_{\ell} b_{k-\ell}-r_{k}, \\
-a_{k}=\frac{1}{4} \sum_{p=0}^{k-1} r_{p}(-1)^{k-p}\binom{k-1}{k-p}+\frac{1}{4} r_{k}+\sum_{\ell=1}^{k} a_{\ell} b_{k-\ell}-r_{k}, \\
\frac{3}{4} r_{k}=a_{k}+\frac{1}{4} \sum_{p=0}^{k-1} r_{p}(-1)^{k-p}\binom{k-1}{k-p}+\sum_{\ell=1}^{k} a_{\ell} b_{k-\ell},
\end{gathered}
$$

which implies that

$$
\begin{aligned}
r_{k}= & \frac{4}{3}\left\{a_{k}+\frac{1}{4} \sum_{p=0}^{k-1} r_{p}(-1)^{k-p}\binom{k-1}{k-p}+\sum_{\ell=1}^{k} a_{\ell} b_{k-\ell}\right\} \\
= & \frac{4}{3}\left\{(-1)^{k-1}\left[\frac{1}{8}-\left(\frac{10}{27}+\frac{2}{9} k+\frac{2}{27} k^{2}\right)\left(\frac{3}{2}\right)^{k}\right]+\frac{1}{4} \sum_{p=0}^{k-1} r_{p}(-1)^{k-p}\binom{k-1}{k-p}\right. \\
& \left.+\sum_{\ell=1}^{k}(-1)^{\ell-1}\left[\frac{1}{8}-\left(\frac{10}{27}+\frac{2}{9} \ell+\frac{2}{27} \ell^{2}\right)\left(\frac{3}{2}\right)^{\ell}\right] \sum_{p=0}^{k-\ell} r_{p}(-1)^{k-\ell-p}\binom{k-\ell-1}{k-\ell-p}\right\},
\end{aligned}
$$

which yields the required formula (11).

Next, by utilizing (11), we demonstrate how straightforwardly one can find $r_{k}$ given in (10). We give the values of $r_{k}$ for $k=0,1,2,3$, as follows:

$$
\begin{aligned}
& r_{0}=\frac{1}{3} \\
& r_{1}=-\frac{7}{6}-\frac{7}{6} r_{0}=-\frac{14}{9} \\
& r_{2}=\frac{19}{6}+\frac{19}{6} r_{0}-\frac{3}{2} r_{1}=\frac{59}{9} \\
& r_{3}=-\frac{15}{2}-\frac{15}{2} r_{0}+\frac{14}{3} r_{1}-\frac{11}{6} r_{2}=-\frac{527}{18}
\end{aligned}
$$

Theorem 2.2. For all $n \in \mathbb{N}$, the following inequality holds:

$$
\begin{equation*}
L_{n}<R_{n}<U_{n} \tag{16}
\end{equation*}
$$

where

$$
L_{n}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left(\frac{1}{3}-\frac{14}{9 n}\right) \quad \text { and } \quad U_{n}=\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left(\frac{1}{3}-\frac{14}{9 n}+\frac{59}{9 n^{2}}\right)
$$

Proof. For $n \in \mathbb{N}$, let

$$
\xi_{n}=R_{n}-L_{n}, \quad \eta_{n}=R_{n}-U_{n}
$$

Then, we have

$$
\lim _{n \rightarrow \infty} \xi_{n}=0, \quad \lim _{n \rightarrow \infty} \eta_{n}=0
$$

To prove (16), it is sufficient to prove that the sequence $\left\{\xi_{n}\right\}$ is strictly decreasing and the sequence $\left\{\eta_{n}\right\}$ is strictly increasing. By elementary calculations, we have

$$
\begin{aligned}
\xi_{n}-\xi_{n+1} & =\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+1)^{3}(n+1)}+L_{n+1}-L_{n} \\
& =\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+1)^{3}(n+1)}+\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+1)^{3}(n+1)}\left(\frac{1}{3}-\frac{14}{9(n+1)}\right)-\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left(\frac{1}{3}-\frac{14}{9 n}\right) \\
& =\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{1416 n^{4}+5476 n^{3}+8278 n^{2}+5723 n+1512}{36 n(2 n+3)^{3}(n+1)^{2}}>0
\end{aligned}
$$

and

$$
\begin{aligned}
\eta_{n}-\eta_{n+1}= & \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)}+U_{n+1}-U_{n} \\
= & \frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)}+\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{(2 n+1)^{4}}{8(2 n+3)^{3}(n+1)}\left(\frac{1}{3}-\frac{14}{9(n+1)}+\frac{59}{9(n+1)^{2}}\right) \\
& -\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}}\left(\frac{1}{3}-\frac{14}{9 n}+\frac{59}{9 n^{2}}\right) \\
= & -\frac{\binom{2 n}{n}}{(2 n+1)^{3} 16^{n}} \frac{12648 n^{5}+58868 n^{4}+115486 n^{3}+117159 n^{2}+60696 n+12744}{72 n^{2}(2 n+3)^{3}(n+1)^{3}}<0
\end{aligned}
$$

Thus, for $n \in \mathbb{N}$, we have $\xi_{n}>\xi_{n+1}$ and $\eta_{n}<\eta_{n+1}$.

Remark 2.1. We now apply (16) to give an approximate value of $\pi$. Write (16) as

$$
\begin{equation*}
\alpha_{n}<\pi<\beta_{n} \tag{17}
\end{equation*}
$$

where

$$
\alpha_{n}=\left[\frac{216}{7}\left(L_{n}+S_{n}\right)\right]^{1 / 3} \quad \text { and } \quad \beta_{n}=\left[\frac{216}{7}\left(U_{n}+S_{n}\right)\right]^{1 / 3}
$$

For $n=10$, we have

$$
\begin{aligned}
& \alpha_{10}=3.14159265358 \cdots, \\
& \beta_{10}=3.14159265359 \cdots .
\end{aligned}
$$

From (17), we get an approximate value of $\pi$,

$$
\pi \approx 3.1415926535
$$

The choice $n=1000$ in (17) gives

$$
\pi \approx 3.14159265358979323846264338327950288419716939937510582097494459230781
$$

## Acknowledgements

The authors would like to thank the anonymous referees for their helpful comments. This work was supported by the Fundamental Research Funds for the Universities of Henan Province (Grant No. NSFRF210446).

## References

[1] R. P. Agarwal, H. Agarwal, S. K. Sen, Birth, Growth and computation of pi to ten trillion digits, Adv. Difference Equ. 100 (2013) \#59.
[2] H. Alzer, A series representation for $\pi$, Elem. Math. 74 (2019) 176-178.
[3] P. Beckmann, A History of Pi, St. Martin's Press, New York, 1971.
[4] L. Berggren, J. Borwein, P. Borwein (Eds.), Pi: A Source Book, 2nd Edition, Springer, New York, 2000.
[5] W. Dunham, Journey Through Genius: The Great Theorems of Mathematics, Penguin, New York, 1990
[6] S. Ramanujan, Modular equations and approximations to $\pi$, Q. J. Math. 45 (1914) 350-372.
[7] K. H. Pilehrood, T. H. Pilehrood, Series acceleration formulas for beta values, Discrete Math. Theor. Comput. Sci. 12 (2021) $223-236$.
[8] A. Sofo, Some representations of $\pi$, Austral. Math. Soc. Gaz. 31 (2004) 184-189.
[9] A. Sofo, $\pi$ and some other constants, J. Inequal. Pure. Appl. Math. 6 (2005) \#138.
[10] Z. W. Sun, On congruences related to central binomial coefficients, J. Number Theory 131 (2011) 2219-2238.

